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Section - A is compulsory. All parts of thi :
section are tolsbe angw:red on th;?sa psagoe anlg CHEMESTRY SS@“’
handed over to the Centre Superintendent. SECTION - A (Marks 12)

Deleting/overwriting is not allowed. Do not use . .
lead pencil. Time allowed: 20 Minutes

Fill the relevant bubble against each question:

Answer Sheet No.

Sign. of Candidate

Sign. of Invigilator

LiplS, r”b/;u,}"u‘r;gm Lyl Y=

. -g;&:"’dlf:’l[ﬂ})"yu?uﬁ};’)wJ.P_”.rup:/:,ﬁg/_/

_Q/4)Cfl)u11£4.1 e LLJr s

Slag is obtained as impurity i/ the
metallurgical processes. Identify slag from

the following: .
L L/:Uﬁbl’-f-ﬂg_lf‘/(f"b/’/)LJ!)’JIGJL};L}%X@ O CHO O 6S103

:Q’/:J&J(Slag)u_a/c

QO Cus O FeO

Predict the unit of X for the given reaction:

—a [N 0]2 No units
2. Nz(g) +O2(g) ‘—‘2NO(g) K¢ =[TV;TOZ—] O N ATTS O Mol \dm™

ST B L K L LS00t

O Moldm® O Moldn’

According to Lewis concept which of the
following is an electron pair acceptor?

3. wiSigru ol e tittndv Lo pLud O CI O =l (O NaCl O NH,
1P
Can donate . Can accept
HCI is an acid. Identify the reason from the g Contains - (H“) Can donate an
A following: proton ( ) O OH"™ group O pro O electron pair
' S5 e et ikl HCI o (H+) S L}SA',‘,‘{,)’OH‘ d:?[(H*) Uiy QCC.t_;/’fv'/';/"?I
‘LL:C ) & ‘LU://
The pH of 107 M aqueous solutions of
5, NaOHs: O 9 O 3 O 1 O 2
< pHKU# 37107 M £ NaOH
Which of the following has general formula
6 R-0-R? Ester O Alcohol (D Aldehyde O Ether
fe R-0-R U)’/Ud)’(;/c,ufuf?@/) A J’Gl Jj({d,ﬂ;l A
Page 1 of2




Identify the product in the given chemical ‘
reaction: Tetra hydroxy : o
OH OH o 0O ethane Oxalic Acid Glyoxa thyne
7. ‘ . » o
I I O ot O SN ¥4 O ST S
H-C-C-H—=222,g-C-C-H
I
OH OH  -JhpweltdvddZy,
Unsaturated hydrocarbons have multiple
Carbon-Carbon bonds. Which of the
following is an unsaturated hydrocarbon?
, CH,-ClI CH,-CH. CH, CH,=CH-CH,
& e Sl P st B SIS S a3k O 2 O 2 3 O 4 O : :
S LMY ¥ (unsaturated)l-y
Peptide linkage is present in: Glucose Vitamins Carbohydrates Proteins
9. . s
‘.‘?.JZ:’JU'(EG,VL:&‘, O S¥ O a7l O Ue LK ‘/'f';/,
Atmosphere is composed of layers.
10. s ; 5 2 3 4
-« A (F 0ot O O O O
Which of the following is a secondary Sulphur Carbon
1 pollutant? Ammonia O Sulfuric acid O dioxide O dioxide
y St I e ol T LS A0 AT
Slaked lime is used in Solvay process. What Sodium Calcium Sodium Calcium
is slaked lime? hydroxide phosphate phosphate hydroxide
12. /(Slaked lame) Fysde b ot Ul e S A TGy O o 2 iy AT, s
(VY e (ePr(
S
——28A-| 2208-(HA) 6082 ——
SUPPLEMENTARY TABLE
Atomic No 1 2 3 4 5 6 7 8 9 10 | 11 12 13 |14 | 15 | 16 17 18 | 19 | 20"
Symbol H | He | Li| Be | B c N (o] F | Ne | Na | Mg | Al | Si P S ¢l Ar | K | Ca
Mass No 1 4 7 9 11 | 12 | 14 | 16 | 19 | 20 | 23 24 27 | 28 | 31 | 32 | 355 | 40 | 39 | 40
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CHEMISTRY SSC-lI

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any ele_ven parts from Section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

SECTION - B (Marks 33)

Q.2 Answer any ELEVEN parts from the following. All parts carry equal marks. (11 x3=33)
(|) Compare stratosphere and troposphere. (Any three points)
(i) What is meant by reversible chemical reaction? Describe briefly with an example.
(i) Briefly explain the Lewis concept of acids and bases with examples.

(iv) Complete and balance following neutralization reactions:

(i) H,CO, + NaOH —> Na,CO, + H,0

(ii) HCl + Mg — MgCl, + H,.

(iii) NaOH +HCl—— _____+H,0.
(v) Water is a weak electrolyte. Justify with the help of self — ionization reaction of water.
(vi) Differentiate between n-propy! and iso-propy! radicals briefly with their structures.

(vii) Write the importance of water briefly.
(vii)  Write names of products in following Chemical reactions:

a) CH, +Cl,—2£% _»CH,Cl + HCI b) H H H H
| |
C=C+Cl-Cl—>H-C-C-H
| |
H H cl Cl
c) CH =CH +Cl,——>HC =CH
l \
cr oo

(ix) Describe one of the following:
a) Magnetic separation b)  Floatation Process
(x) Describe the origin of Petroleum and Natural Gas
(xi) What are monosaccharides? Write briefly. Also give two examples.
(xii) Acids dissolved in rainwater damage soil and plants. Give reasons
(xiif) ~ What are the causes of hardness in water? List any three.
(xiv)  What happens when ammonical brine is passed through carbonation tower. (Solvay Process)
(

xv)  Describe the composition of Urea.

SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 a State the law of mass action and propose the expression for equilibrium constant for a general
reaction.
(06)
b. What are water borne diseases? Describe any two. (04)
Q.4 a What is water pollution? Describe the effects of using polluted water. (05)
b. What are vitamins? Write their importance. (05)
Q.5 a Make a chart of the alkane, alkene and alkyne functional groups, their general formula
and give relevant examples. -{06)
(04)

b. Write the preparation of ethene from alcohol and ethyl brom|de

—— 2SA-1 2208 (HA) —
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S3praieno A
22 LT/ i (0Dn e § e Uipr 20 sz (1)l s 2 Lo, 86028 Sl cr 2 Lt 0
-u‘jlgi.néiwidu
(33 / J/ )r».'k?
(11x3 = 33) Y0y é:u:‘lr"a-u.‘.’d e W2 L2111 :..(jf ety A
(U febd el gl pmidey ()
LB AL Lt p e PRSI (i)
el A LIS id gl L tty (i)
LS AL s (V)
H,CO, + NaOH—>Na,CO,+ H,0 -3
HCl+ Mg——> MgCl, + H, -
NaOH+HCl—> ______ +H,0 - &
2t i Lusd QS e sS A RAL T (V)
S wolos B 7 VL:»’M’%J/' guy/)é:ﬁéziso-propybﬂn—propyl (vi)
B el (vii
AL i fE LS Sitn  (vil])
H H H H
I |4 ‘
C=C+Cl-Cl—H-C-C-H - CH,+Cl,—4_,CH.CI+HCl )
7l Ly
CH =CH +Cl,—»HC =CH
| I -
¢l . c ;
LSl L e okt (iX)
VTl I Oy 18 e
S kA, Bl (X)
-u;u" Gass /-u“"i e alfisp F iy (xi)
-uflzggm-wggz; 21 Ungaid ot s X u:dg LA (xii)
LI LS el A (xiil)
(U714 ) ?‘at’(guf b LK P o et (XiV)
U eSSt (xV)
QA S)pr o
(02x10=20) (i f Lushy t0 - Drne

(06)
(04)
(05)
(05)
(06)
(04)

I /w LI LA AL LS5 2 S ke 56 PSS Law of Mass Action)
B Lasdfas o e dt e 5L

L e I LS LYo T TS

S F e St

wdmw b AUt S8 1S P8 L (Alkyne) fé s Alkene ) Alkane)ol
* i A Bthene) | (Ethyl bromide)¥4s.cf . si(AlcohaD )
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1. — is one of the petroleum fractions. Mineral salt O Diesel Q Urea O Ammonia
o LS L Jzs Ly s

Predict the unit of K for the following given
reversible reaction

2
250,+0, =280, , K, =_% O Moldm’ O Mol'dm® O Mol'dm® () Moldm™
[s0.]'[0,]

_u_’/r(jfﬁ(;&,_{f_ Kc uﬁu’{ld/‘}{/g/iéf)

A solution contains 1.O><10'7M,[OH’:]

concentration. This solution is: Strong Acid Neutral Basic Acidic
> V¥ et .0x107 M, OH™ | 060 41 O sty O use Oz O
a
Which of the following is a Lewis Base? _
4. HCI F BF, AICI
?‘[—.({rtﬁk/ﬁéu:uﬁ@/} O O C) ’ O ?

One molecule of H,O produces one H*

ion and one OH~ on dissociation. Pick the

5. correct option. O [or]=10 O [H*]=10* (O [or ]=10* O [H]=107

T OH™ i H ion 446152 Li¥ H,0O
-u.‘..%)/__al's:'l@l-r‘_t'/

Unsaturated Hydrocarbons undergo
Bromination. Which of the following will

undergo bromine water test? -
6 P ;’ i b B o i O CH,-CH, () CH,=CH, () CH,-OH () CH,
_wZ.ch_.u*/f:u,M/b/u?L
Dehydrohalogenation means the removal Hydrogen and Hydrogen and
7. of: .. Oxygen O Halogen Carbon O Water
_4_6!7‘%__;[/:_‘-}42').]'1:»'5_465 (f:rl’ Pkl Pl IO d&
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is used as a catalyst added to
prepare propane according to the following

-
o
wm
equation .
8. CH,-CH=CH,+H,—>CH,-H,-CH, () Zn O Hcl O Ni O Pt
.‘)l&f/ﬁ’f JﬁJProPane awéu"—%}i{_; * .
-[al’?g‘)& -
Glucose is a Hydro-carbon(CH,,0;) .
Identify glucose from the following. Aldose Tetrose Disaccharide Hexose -
o &BJ}L{G»}G/)-QMJK;/EQ.{I (C6H1206) 71 O Byl O JIE O ,Zfl/céb‘ C) J:é .
/S
N
Lowest temperature in stratosphere is: o 0 0 o
10. ) 55°C -55°C =5°C 5°C
?‘QW:,JI/,?/)[:;*/J:/’{VJ:/I O O O C) .
Which of the following is a reddish brown
1, 9357 O co O No O o O o .
. Y‘g_u'ufu'{du‘.”‘ft(j/c_u:oﬁéﬂ . i g .
12, —— I8 the formula of urea. ., O NHCOONH, O (NH)SO, (O NH,CONH, (O NH,NO, o
e Uy 6104
‘ E o
.
[
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Time allowed: 2:40 Hours
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CHEMISTRY SSC-Ii

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

Q.2

Note:

Q.3

Q.4

Answer any ELEVEN parts from the following. All parts carry equal marks.

(i)

(i)
(i)
(iv)
(v)
(vi)

SECTION — B (Marks 33)

Predict the products when temporary hard water is boiled. Write the chemical equation also.
State the Arrhenius concept of acids and bases.

(1M1 x3=

33)

Show that H,0 is a Bronsted base while HC! is a Bronsted acid with the help of chemical equations.

Classify the following as Acid, Base and Salt. NaOH, H,S0O, ,NaCl

Describe the Forth Floatation process briefly.
Classify the following as aldehyde, alkene and carboxylic acid.

(0] 0]
(@) CH;-CH=CH, (b) l (c) Il
CH,-C-OH H-C-CH,-CH,-CH,
Interpret macroscopic characteristics of forward and reverse reactions.
Write down the properties of water. (any three)
lllustrate how alkenes prepared from the following (a) Alcohol (b) Alkyl halide

Alkenes are oxidized in KMnO, Solution, but alkanes are not. Justify why?
What is the importance of nucleic acids?

Show through chemical equations, how ozone layer is being depleted?
Describe Clark's method for removal of-hardness of water.

What is urea? How is it prepared?

Tabulate or write the products obtained from-fractional distillation of petroleum.

SECTION - C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2x10=

What is law of a mass action? Derive K, expression and its units for the given equation
PCL +CL= PCL

Identify the functional groups in the following.
(i) CH,0CH, (ii) CH,COOH (iii) CH,COCH, (iv) CH,COOCH,

Write the steps to prepare Oxalic acid starting from Ethyne. Name the products formed in
each step.

Explain the sources and uses of any two of the following
i) Carbohydrates ii) Proteins iii) Lipids
List the types of hardness of water. Explain the methods for removing permanent

hardness of water
Outline the basic reactions involved in Solvey process.

—— 25A-1 2208 —
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..«u,?é_.,t-u‘/ LU0, e Py 0 sl i 11)»/U'o(»,ﬁ>~dugémlivf J&?’Loi“utlié_“rr‘ W e’ il
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B34S )pn
(11x3 = 33) ' | -uz/l//éu,'lrru-u"‘r V4 utti&vn(ll)ulf :.d/c,utd'uu» AUy
_u///u’meJnm_,G;,w/.»_/mf/u,,w// (i)
AL S AT (i)
e ks HCL B e I H,0 S s sufeidLd (i)
NaOH, H,S0,,NaCl - -/ ShonLlini gt Ml piitn (V)
Wl A U1 8(Froth Floatation) 2 (V)
A d}c,?u/,u”Z:(CarbOXylic)iJJM}KJ;I(AIkene)cﬂ( f(AIdehyde)j;;d,t&r¢ﬁﬁa/) (vi)
0
| R |(i i CH,-CH=CH, -
H-C-CH,-CH,-CH, CH,-C-OH
- pelor? L RS PO PS80 (vil)
L Euedh it Sl (i)
(Alkyl Halide) ¥irf 8l v (AloohoDL. ot —tdsiplAlkenes) e sbtnspfeols  (iX)
1 F 2 ltkanes)F LN F# £ Kutwo, (Alkenes)dl  (X)
el S Nucleic Acid) 0By (xi)
Se Gunt® e S 2 s el (i)
U e PRCla)S WL LS A (xii) i
St bty (V)
_.xt-,.dww"“fagzdw;nd‘wﬂu"sﬂf'Jﬁw’; (xv)
| |
(204 f )y &
(02x10=20) A Lusr i E L Jirne i)
(06) PCl, +Cl,= PCI SPES K S K, e Lt e o e Law of Mass Action -1 21y
b LSS PR pbs
CH,COOCH,-s  CH,COCH, -ty CH,COOH -  CH,0CH,-J
(05) LS Ll dpd ik e el i (Onalic Acidtef ST &t nl Sile (Binyne)fis ) i i
(05) J/f (SOWCCS)V’MLJJ‘VUW’L»U/( a,u" M/Z//) ket
| H o G sy GD FUK  ©
(05) SeESLL Il T T St Tnp SIS - 10 7 1
(05) 2
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